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7 100kN/ Mm% 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 465 57.95 | #nLS | 000 ~ 4.65| 2.09 11.20 st 1.00 | .00 ~ 6.10 57.95 | =hLs | .00 ~ 610 2.09 11.20
2 100kN/mM%#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 685 86.70 | NS | 000 ~ 685 1.93 10.33 st 1.00 | 6.00 ~ 9.00 86.70 | =nLs | .00 ~ 9.00| 1.93 10.33
3 100kN/m##8x5 | 1.00 | 0.00 ~ 031 104.62 |3mZEBAB| — ~ — — — | 100kN/ %825 | 1.00 | 1066 ~ 11.50| 104.62 |3mE#Z5 - ~ — — —
s 1.00 | 031 ~ 810 100.00 | =nst | 000 ~ 810\ 2.27 1215 st 1.00 | 6.00 ~ 10.66 100.00 | =nhst | 6.00 ~ 1150| 2.27 1215
4 100kN/m%x#8z5 | 1.00 | 000 ~ 059 10881 |3mEBzB| — ~ — — — | 100kN/ %825 | 1.00 | 1053 ~ 1220| 10881 |3m%E#Z5 - ~ — — —
s 1.00 | 059 ~ 838 100.00 | =nhst | 0.00 ~ 838|219 11.73 st 1.00 | 6.00 ~ 1053 100.00 | =4t | 6.00 ~ 1220)| 2.19 11.73
5 100kN/m%E#8z5 | 1.00 | 000 ~ 059 10882 |3m&x#Bz5| — ~ — — — | 100kN/m%z#B25 | 1.00 | 1053 ~ 1220| 10882 |3m%E#Z5 - ~ — — —
s 1.00 | 059 ~ 838 100.00 | =0t | 0.00 ~ 838\ 2.20 11.79 st 1.00 | 6.00 ~ 1053 100.00 | =4t | 6.00 ~ 1220)| 2.20 11.79
P 100kN/m%#8%z% | 1.00 | 000 ~ 086 11292 |3mE#BZ%| — ~ — — — | 100kN/mMZ&#B25 | 1.00 | 10.72 ~ 1350| 11292 |3m%E#Z5 - ~ — — —
s 1.00 | 0.86 ~ 865 100.00 | =0t | 000 ~ 865\ 2.10 11.21 st 1.00 | 6.00 ~ 1072 100.00 | =5t | 6.00 ~ 1350| 2.10 11.21
- 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 0o0o ~ 771 98.87 | =nLs |0oo ~ 771 1.98 10.59 st 1.00 | 6.00 ~ 1150 98.87 | #hs | 5,00 ~ 1150| 1.98 10.59
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLst 1.00 | 0.o0 ~ 731 9311 | =hbs | 000 ~ 731 1.93 10.35 st 1.00 | 6.00 ~ 1090 93.11 | #hst | 6,00 ~ 1090| 1.93 10.35
100kN/mM%EZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ st ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ zhnst ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ st ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ zhnst ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ st ~
100kN/mM%E{BZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ st ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBZD ~
ZhLst ~ ZhnLst ~ st ~ st ~ _




